9.3 The Law of Sines .
HW pg. 347 #3 — 130dd, 15 — 710dd

For A ABC: K —ﬂo‘kmA = Z’WSIHB —,éd}fsmC divide each by - Labc. What results?
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e Working with_s_i.n_e can often yield l possible angles.
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Law of Sines in the -SSA case (Oh no, we only have.l_angle...Boo!!!)

- You may be able to construct O , l , or 2 triangles.
- SSA isknownasthe 0™ blqueus case.
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3. 15 =130° b = 15, c = 11. Solve & ABC.
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4. Redo # 23 from pg. 336. From points A and B, 10 m apart, the angles of elevation of the top of a
tower are 40° and 54°, respectively, as shown at the right. Find the tower’s height.
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